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WALT: solve word problems.

S2S: |l can
* identify the key words in a problem.
* use repeated addition.
* use the bar method.

Complete pages 32 and 33 in your CGP book as an extra challenge

There are four plates with two biscuits on each .

plate. How manmy biscuits are there in total?

There are ten sweets in a bag. There are three bags.
How many sweets are there altogether?

A purse has five 5p coins in it. How much money is
there in total?

Challenge

Canyou write a word problem and draw a picture for each of
these number sentences?

10 = 2
2x8
5x6



